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A person starting from his house
covers a distance at 15 km/hr
and returns to the starting place at
10 km/hr. His average speed during
the whole joumey is

(A) 11 km/fhr

(B} 12kmir

(CY 123 kenfhr

(D) 13 kmthr

Amerchant has 1,000 kg of sugar, part
of which he sefls at 8% profit and rest at
18% profit. He gains 145 on the whale
The quantity sold at 8% profitis ¢

(A) 400kg

(B) 66O kg
(C) 600 kg
(D) G40kg
A sumof Rs, 10,000 Is lent partly at
8% and the remaining at 10% per

annum. If the yearly interest on the
average is 9.2%, the maney lent at

10% is :

(&) Rs. 6,000
(B) Rs. 5,500
{C) Rs. 5000
(D) Rs.4,500

Direction (Q. Nos. 4 to 8) : Study the following table carefully and answer the given
questions. The number of candidates appeared, passed and selected in a compelitive

examnation from four states over the years.

State A B C D
Year | A P| S| aAa|P| S| A PSS A Pl 8§
2001 | 850 | 215| 25 |1050|245| 35 | 990 | 195 | 28 |1080| 300 | 36
2002 | 880 | 240| 20| 980 |230( 30 (650 | 150 | 28 |1150| 320 | 3B
2003 | 750 | 180| 22 [1120(210| 28 |840 | 180 | 25 | 995 | 2B0 | 42
2004 | 920 | 290| 36 | 890 | 190| 32 | 780 | 160 | 32 | 975 | 280 | 38
2005 | 980 | 300| 32 | 950|225 40 |1020 | 220 | 36 | BBE | 240 | 32
2006 | 820 | 250| 28 | 1180|200 38 (930 | 215 | 35 | 864 | 216 | 30
A = Appeared, P = Passed, 5 = Selected

In the year 2001, which state had the B) B

lowest percentage of candidates

selecled over the candidates (C) ©

appeared ?

A A (D} D

HG - 2C/36 {2) Contd.
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During which of the following years,

the passing percentage over appeared
IS the highest from state 'D' 7

(A) 2001
(B) 2006
(C) 2004
(D)} 2003
Total number of candidates selected
rom state ‘A is approximately what

percentage of the total number of
candidates selected from state'B’ 7

(A) BB
(B) B5
(C) 75
(D) B0
During which of the following years,
the percentage of candidates

selected over passed is the lowest
for state '8 7

(A) 2001
(B) 2002
(C) 2004
(D) 2005
What 1s the ratio betwean number

of candidates passed from stale ‘A
in 2002 to that from state 'D' in

2005 7

(A) 11
By 1:2
(C) 2:1
(D) 2:3

HG —2C/36

Direction (Q. Nos. 8 to 13) ; Study the
following graph carefully and answer the
given quastions.

Percent profit earned by two companies A
and B over the years 2001 to 2007.

10.,

(3]

Campany
b
."E'H

T e v
Fear

Investment of company 'B' in 2007 is

more by 40% than that in the previous

year. Income in 2007 was what

pearcent of the investment in 20086 ?

(A 280%
(B} 252%
(C) 242%
D) 52%
Investment of company ‘B' in 2003

was Rs. 1540000, What was its

income in that year 7
(A) Rs 23.33lakhs
(B
(C)
(D)

Rs. 22.33 lakhs
Rs.22.23 lakhs
Rs. 23.23 lakhs

{ Tum over)



(Q. Nos. 14 lo 18) : Tha pie

11. Income of company ‘A’ in 2005 was Direction 4o 18 S
Rs. 21.7 lakhs. Whal was the  charisgien show the o
foreign colfaboralions approve
investment 7 -
I P various countries, Study the pie charls
Al Rs. 14.6lakhs | -
- and answer the given guestions.

(B) Rs. 41.60lakhs
(C) Rs. 5026 lakhs
(0} None of thesa

12.  Average investment of company 'A'
over the years was Rs. 26 lakhs.

What was its average income aver

the years 7

{A) Rs.40.56 lakhs
(B) Rs. 50.25 lakhs
(C) Datainadequate

{D) Rs. 4156 |akhs

13 Income of company ‘A’ in 2005 is
equal to the investment of company
B in 2006. What is the ratio of the

1999 - Tatal = 1500

investment of company ‘A’ in 2005 to
14. By what percentage did the foreign

the investment of company ‘B’ in
collaborations approved with Germany

1996 7
_ change in 1999 with respect to 1998 7
(&) 37 38 _
{A) 2% increase
(B) 30 28 (B) 2% decrease
(C) 20 31 (C) B3%increase

{D} Mone of these (8]} Elg% decrease

HG -2C/36 (4) Contd.



15. Whal s the ratio of the number of

16.

e

loreign collaborations approved with
USA in 1988 to those in 1993 7

(A) 4:5

() 12:27
(C) 15:28
(D) 24:35

VWhal is the difference In percentage
share of UK in the foreign
collaborations approved in 1998 and
1869 7

(A} 1.5%
(B 20%
(C} 25%
(D) 3.0%

By how much did the number of
foreign collaborations approved with
italy increase from 1998 10 1988 7

(A} 30
(By 10
(C) 3
(D) Zero

18. In 1989 USA accounts for what
percent of total foreign collaborations

approved 7

HG -

(Al 21%
(B) 22%
(C) 23%

(D) 24%

2C/36

Direction (Q. Nos. 19 & 20} : The fable
given below shows the production of five
typas of cars by a company in the year
2601 fo 2006. Study the fable ard answer

fhe guestions.

Production of cars in {'000) by a company

[Woar — [ 2001 | 2002 | 2001 | 2004 | 2009 | 2008
Typs L

Todal

BEIEAEAERERE
W W W 12| 1| W
TEERETNERERES

=

Lr

TEREREREIER
TR EEEEIERERED
Totd [ T4 71 (15 | W | W BI__-'-TE

| o8| @ | T
Y]
—

19, The percent increased in total
production of all types of cars in 2004
to that in 2003 was

(A) 15
(B) 20
(C) 25
(D) 30

20. The production of which types of cars

was 25% of the total production of all

types of cars dunng 2005 7
(Ay 5
B) R
(C) P
0y Q

{ Tum over )



Direction (@. Nos. 21 to 30) : Read the

following two passages and answer fthe
questions that follow each passage. Your
answer fo these questions should be

based on the passages only.
Passage —|

Suppose | say to you in English that
"I spent yesterday evening with a
neighbour”. You may well wonder whether
my companion was male or female, but |
have the night to tell you politely that it's
none of your business. But if we were
speaking French or GErman, | wouldn't
have the privilege to equivocate in this way,
because the grammar of these languages
compels me to inform you about the sex of
my companion whether or not | feel it is
remotely your concern. This does not
mean, of course, that English speakers are
unable to understand the differences
between evenings spent with male or
female neighbours, but it does mean that
they do not have to consider the sexes of
neighbours. friends, teachers and a host
of other persons each time they come up
in a conversation, whereas speakers of

some languages are obliged to do sa.

On the other hand, English does
oblige you to specify certain types of
infarmation that can be left to the context
in other languages. If | want to tell you in
English about a dinner with my neighbour,
| may not have to mention the neighbour s
sex. but | do have to tell you something
about the timing of the event. | have 1o
decide whether we dined, have been

HG - 2C/36

(6)

be dining and so on

dining, are dining, will
not

Chinase, on the other hand, does
oblige its speakers to specify the exact
time of the action in this way, pecause the
<ame verb form can be used for past,

resent or future actions. Again, t[ﬂs does

P
nese are unable to

not mean that the Chi :
understand the concepl of time. ﬁuht does
mean they are not obliged to think about

g whenever they describe an action.

VWhen your language routinely obliges
you to specify certain types of infnrrnatmr.'l.
it forces you to be atte ntive to certain

details in the world and to certain aspects
of experience that speakers of other
languages may not be required 1o think
about all the time. And since such habits
of speech are cultivated from the earliest
age, it is only natural that they can seftle
into habits of mind that go beyond
language itself, affecting your experiences,
perceptions, associations, feelings.
memoaries and orientation in the world.

1. *| have the right to tell you politely that
it's none of your business.” What 1s
“‘nane of your business’ ?

(A) My spending or not spending
an evening with my neighbour

timin

(B) Your wondering whether my
neighbour is male or female

(C) Wondering whether it is my
right or not to tell you politely that
it's none of our business

(D} Your wanting to know whether
my neighbour was male or

fermale

Contd.



22. What determines the gender-marker

of the words we use in a language ?
(A) Linguistics

(B} Morphology

(C) Syntax

( E}) Grammar

23 Which of the following statements
about Chinese and English is true

according to this passage 7
{(A) Chinese 15 indifferent unlike
English o events in time
(B) Chinese cannot distinguish
between the English tenses.
(C) Chinese words for action do
not reflect the tenses the way

those of English do.

(0} Chinese waords cannotl

understand the sense of time

the way English words do.

24 When you refer to the people of China

you say and when you

refer to the people of England you

say

(A) The Chinese, The English
(B) Chinese, English

(C) The Chinese, English

(D) Chinese, The English

HG - 2C/36

25 “When your language roulinely
obliges you to specify certain lypes
of information ., ....". VWhat does the
talicized word mean 7

(A) As done sometimes out of
compulsion

{EL As done always out of
campulsion

(C) Asdone regularly as procedure

(D) As done by default, not
otherwise

Passage -l

Scientists are primarily moved Dy
cunosity, by the passionate desire to know
how things happen in life and nature and
secondly, by the desire to use this
knowledge for human welfare. Nobody can
deny that science has rendered invaluable
service to mankind in various spheres. It
15 due to the discoveries of science that
we have been able to find a cure for most
diseases and prevent the gutbreak of
epidemics, thereby vastly increasing life
expectancy.

The most valuable service which
science has rendered to mankind is that it
has given it supreme self confidence. It has
given man the assurance that, instead of
being a slave to his environment, he can
contral and modify it to suit his needs.
Before the scientific era, an agnculturalist
eked out a precarious existence, hish

livelinood depending upon the vagarnes of

( Turn over )



the weather. Insect pests, locusts, drought
devastated his fields. Now we have built
huge dams to supply waters through
perennial canals, manufactured fedilizers
which enormously increase agricultural
production, produced effective pesticides,
learnt how lo prevent soil erosian,
introduced multiple cropping and devised
other ways to improve oulpul.

Population control would still be
needed if food production is to keep pace
with the growth in numbers, but the
spectacular progress which scientific
cultivation has made possible in the field
of agriculture has belied all Malthusian
fears Progress in the industrial field has
been even more spectacular, thanks to the
apphcation of science to industry. The
world, particularty the developed part of it
now enjoys a standard of living which in
former ages was not even enjoyed by the

wealthier classes. The higher standards of
living have made it possible for the

govermnments ta pravide the social services

an a liberal scale

The machine has not anly relieved
man of heavy burdensome tasks, but has
also provided him with ample leisure in
which he can engage himself in culural
pursuits, culivate various kinds of hobbies

and travel It is through science that he has

HG —2C/36

bean able to invent new Sources of

entartainment and education, such as

cinema, radio and television, The

enormous popularity of these sources of
entertainment proves how useful they are
to mankind. Before the invention of the
printing press, education was confined 1o
a small section of the community and was

of a predominantly religious character. The

printing press revolutionised the art of

publication and brought boaks, periodicals
and newspapers within everyone's reach

26. VWhal made the discoveries af
science possible 7
(A) Inquiry
(B} Reasoning
1{':} Curiosity
©) kil
27 \What significant change in man’s life
resulted with his knowledge of
science 7
(&) It has made him bold and
creative
(B) Ithasmadeofhima master of
his environment
(C) Ithas made him cautious about:

his environment

(D} It has made little difference 1o

his life

18) Contd.



28, Inwhich part of the world do people wood and other products, they give him

enjoy a higher standard of living 7 shade, and they help to prevent draught and
(A)  The West floods.

(BY The developed Unfortunately, in many parts of the
(C) The Mid-Eastern world, man has not realized that the third
©) ‘Theinderdevelosed of these services is the most important. In

his eagemess to draw quick profit from the

9.
29, Who would be responsible for trees, he has cut them down in large

extending social services 7

(A}  Govemments

numbers, only to find that with them he has

lost the best friends he had.

(B) Local-self govemments Two thousand years ago a rich and

(C) Scientific institutions powerful country cut down its trees to build
(D) Wealthier classes warships, with which to gain itself an

empire. It gained the empire, but without
a0 What are enomously popular among P g bkl

s, its soil b d poor..
the sources of entertainment ? 15 free 501l became hard and p

", VWhen the empire fell to pieces, the home
(&) Cinema. radio, television
- country found itself faced by floods and
(B) Books, periodicals, newspapers _
starvation.

(C} Wanous kinds of hobbies and Even where a government realizes

travel the importance of a plentiful supply of trees,

(0} Science, cultire, eEUcalion it is difficult for it to persuade the villager to
Direction (Q. Nos. 31 te 40) : Read the see this. The villager wants wood to cook
following two passages and answer the his food with, and he can earn money by

questions that follow each passage. Your ~ making charcoal or selling wood to the

answer fo these questions should be townsman. He is usually too lazy or too
based on the passages only. careless to plant and look after new trees
Passage - | So, unless the government has a good

Trees are useful to man in three very system of control, or can educate the
important ways . they provide him with people, the forests will slowly disappear

HG - 2C/36 (9) ( Turn over )




This does not only mean that the 33. Trees are highly useful because

villagers' sons and grandsons have fawer (A) They prevent sail from being
trees. The results are even more Serious ! washed away

for where there are trees their roots break (B) Theybreakthe soil up

the soil up — allowing the rain to sink in — (C) They letthe rain water sink in
and also bind the soil, thus preventing its (D) Theycheckfloods

being washed away easily, but where there
jculture
are no trees, the rain falls on hard ground 34, Floods are harmful to agrc

and flows away on the surface, causing because these

Aoods and carrying away with itthe rich top- o
soil, in which crops grow so well. When all (B) \vashaway the rich top ol
the top-soil is gone, nothing remains but (C) Killvillagers and farmers
worthless desert. (D) Result in the break out of
31 What is the most important role of epidemics
trees in man's bio-system ? a5 \Which one of these is not a synonym
(A) Trees provide us with fuel of "gain” ?
(B) Trees give us fruits (A) Benefit
(C) Trees provide shade (B) Advantage
(D) Trees prevent drought and (C} Loss
floods (D) Profit
12 What happens if trees are cut down Passage — I

in large numbers ?
To be a good teacher, you need

Al We have more land for buildin
e it <ome of the gifts of the good actor © you

houses and roads _
must be able to hold the attention and
: il :

(8] Soilbims e g post interest of your audience | you mustbe a
(C) We getagood supply of wood clear speaker, with a good, strong,

(D) We can build warships pleasing voice which is fully under your

HG —26/36 (10) Contd.



control ; and youmust be able to act what
you are teaching, in order to make its
meaning clear.

Watch a good leacher, and you will
see thal he does not sit motionless before
his class - he stands the whole time he is
teaching , he walks aboul, using his arms,
hands and fingers to help him in his
explanations, and his face fo express
feclings. Listen to him, and you will hear
the loudness, the quality and the musical
nate of his voice always changing

accarding o what he s lalking about,
The fact that a good ieacher has
some of the gifis of a good actor does not
mean that he will indeed be able to actwell
on the stage ; for there are very important
differences between the teacher's work
and the actor's The actor has 1o speak
words which he has leamt by heart | he has
to repeat exactly the same words each
time he plays a certain part , even hs
movements and the ways in which he uses
his voice are usually fixed before. What he
has to do is to make all these carefully

learnt words and actions seem natural on

the stage.

HG-2C/36
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The good teacher works in quite a
different way. His audience lakes an active
part in his play | they ask and answer
guestions, they ocbey orders, and if they do
not understand something, they say so. The
teacher, therefore, has to suit his act to the
needs of his audience, which is his class.
He cannaot iearn his part by hear, but must
invent it as he goes along.

| have known many teachers who
were fine actors in class but were unable
lo take part in a stage-play because their
brains would not keep discipline - they
could not keep strictly to what another had
written.
36, Common to a good teacher and a

good actar i1s the quality of -

(&) Beingtalkative

(8} Original thinking

(C) Tapturing the attention of

audience

(O} Making audience laugh

37. Agoodteacher:
(Al s arbiculate
(B) is disciplined
(C) always moves in his class

(D) always stands in his class

( Turn aver



jal miaractluns agr in &

38 What does a teacher not do in his during s0C
class 7 social-interactive context
(A) Hewalks about in his class (A} feel
(B) He hardly expresses his {1:3',! read
feelings (C) wnmite
(C) He speaks words which he has (D) view
teamiby hear 42 Many have wandered NOW it happens
(0} He uses his hands and fingers ihat persans with high Qs don't
while expfaining - __ thetopjobs:the
J¥  The audience in a class should be answer often les n intE.‘I“pEI'EDﬂm
(AY Interactive skills
(B3) Passive {A) land
(C) Reverential (B) leave
(0] Audacious (C) sack
40 Which one of these is not a synonym (D) seize
of “strict” ? 43 Those who have interpersonal skills
(A)  Severe are able to manage their behawviour
{B) Harsh during social interactions and align
(C) Stringent their goals to the goals of others
(D) Lax during __aclivities.
41 Interpersonal skills inciude the (A} conesive
ability to ___ and manage (B) callaborative
the emotions, motivaticns and () collocation
hehaviours of oneself and others (D) conservative

HG = 20136 (12) Contd



44, Modern teamwork woften brings
together Individuals from diverse

groups who may not share comman

norms, valugs, or but

who do offer unique expertise,
nsights, and perspectives
(A) accommodations

{B) - cubicles® &

(C) salaries

}EJ] vocabularies 47.

45 E-mail, voice mail, audio conferen-
cing and video conferencing, and the
myriad cther technologies that
enable individuals to communicate
wilh each other not only increase the
ways in which individuals can interact
but also require a -herghtened
sensitivity to the ________— — of

interpersanal interactions,
(A) innuendos

(B) navete

[{E} nuances

(0} reparige

46. This idea is particularly true in the

worlds of virtual learning and virtual

HG - 2C/36 £

communication, where one cannot

—_—— = CTEETETE]

yet use hand gestures, facial
expressions, orbody 10

fully express ideas.

(A) language

{I_E!}. movement

(C) poses

(D) positions

You have just finished typing a
confidential letter from the director to
the human resources cffice. The letter
confirms that Debbie, your close
friend and co-worker, has just been

promoted to a new job. Debbie does

not yet know of the decision. Which

one of the following should you do 7

(A) 'Congratulate Debbie confi-

dentially

(B} Inform just a few of Debbie's

close friends

(C) - Say nothing, and wait for the
official announcement

(D)  Inform your supervisar and start

planning a lunchean

{ Turn over )



48 They manage conflict effectively by

devising win-win

golutions,

constructively influencing the

behaviour of others, and using

effeclive communication and

(A)
(B)
(©)
(D)

49

strategies.
enforcement
gvasive
performance

persuasive

Which is true about the way

interpersonal relationships affect us

physically ?

(A)

(B)

()

{D)

Deprived of interpersonal
relationships, humans can
become sick

Interpersonal relationships are
not actually necessary for
humans , studigs show that
humans raised in isolation are
actually healthier than those

raised with others

Humans are the only mammals
that need relationships in order
to thrive

Interpersonal relationships are
necessary until about age 6, but

nat later in adulthood

HG - 2C/36

50.

81.

52. Oral

(14 )

2.

The challenge is to

inter-

personal skills not only in face-to-face
interactions but in virtual interactions

as well.

(A) perfect
@_}/ perform
(C) produce
(D) project

Message is any signal that triggers

the responseofda ———-
(A) recemner

®)
(C)
(D} cleaner

driver

sender
communication is

interchange of

the sender and receiver

{ﬁ‘f};"i.rerhal messages

(B) cues and clues

-{C} signs and gestures

(D) written messages

the

between

context refers to the

relationship between the sender and

receiver,
(A) Social
(B)
(C)

{E?:]I

Physical
Cultural
Chronological

Contd
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56.

Hi3 -

refers to all these factors

e

that disrup! the communication.

(A)  Nonsense

(B} Moise

(C) MNowhere

(D) Mobody

(y Al the trees in the park are
flowering trees,

i) Some of the trees in the park
are dogwoods.

am  All dogwoods in the park are
flowering trees.

if the first two statements are frue, the

third statementis :

(A)  True

(B) False

(C) Uncertain
{0y Can'tsay

Of the following two statements, both

57. Circle Indicates ‘strong’, square

o8.

of which cannot be true; but both can

also be false. Which are thesa two
statements 7

(7 All machines make noise.
() Some machines are noisy

(1) Na machine makes noise.

(V) Some machines are not noisy.

(A) Tlandll
(B8) landV
(C) landlll
(D) NandV
2C/36

(13)

indicates ‘tall’ and triangle indicales
‘army officers’. The strong army

officers who are not tall s shown by ©

&) 4
| 3
(Cy 5
(D) 6
In a family there are husband, wife,
two sons and two daughters. All the
|adies were invited 1o a dinner. Both
sons went out to play, Husband did
not return from office. Who was at
home 7
(A) Only wife was at home
(B} Al ladies were at home

(C) Only sons were at home

(D) Mo body was at home

( Tum over )



28.

60

Which of the following fligures
best depicls the relationship

among Criminals, Thieves and

Judges ?

(=)

0oy N

There are five books A, B. C, D and
- placed on a table If A 15
placed below E, C 15 placed above
D. B s placed below A and D15
placed above E, then which of the

following books touches the surface

of the table ?
Ay G

B) B

&1.

B2

(16)

M}  Artists are generally whimsical.
(y Some of them are frustrated
(i Fnistrated people are prane to
be drug addicts.

Based on these statements which of

the [ollowing conclusions is true 7

(A) Al frustrated people are drug
addicts
{Fl! Some artists may be drug
J addicts
{C) All drug addicts are antists
(D) Frustrated people are
whimsical

If A is the son of Q. Q and Y are the
sisters, 7 is the mother of ¥, P is the
san of 2. then which of the following

statements is camect 7

(A} Pis the maternal uncle of A

(B) PandY are sisters

(Cy AandP are cousins

(0) MNane of these

Contd.



63 Three ladies X, Y and Z mamy three man's father s my father's san"
Whose photograph was it 7

{(A) Hisown
(B) Hisnephew's
(C) His father's

men A, B and C. X Is mamied to A,
¥ is not mamed to an engineer, Z is
not marned 1o a doctor, C is nol a
doctor and A is a lawyer Then which

(D) Hissan's

of the following statements is
66. Find the minimum number of strakght

correct ?
lines required 1o make the given
(A4) Y is marred to C who is an figure :
engineer .
Y b T A4
(B) Z is married to C who is a 3 :
L o S 1 - T
doctar : g .
% 1
(C) X is married to a doctor
(A) 16
(D) Nane of these -
w7 (BY 17
64.  Find the number of triangles in the (C) 18
given figure ; (D) 18
67 Find the number of triangles in the
given figure -
(&) B8
(B) 10
) 12
(A} 18
{0y 14
(B) 20
65 Painting to a photograph, a man said, (C) 24
“| have no brother or sister but that 0y 27

HG — 2C/36 {17) { Tum over )



68. A B, C, D, E and F are the

69.

HG -

members of a club. There are two
married couples in the group. A is
the brother of D's husband. C is the
President of Women's Association.
F is a Sitar Player and Bachelor. B's
wife is not .a member of the club.,
Four of them belong to the same
farmnily. B and F are colleagues in the

club. How is F related to B ?

(A)  Wife
(B) Husband
(C} Father

(D¥ Itis not possible to determine

A family consists of six members P,
Q. R, X, YandZ Qis the son of R but
R 1s not the mother of Q. P and R are
a married couple. Y is the brother of
R. X is the daughter of P £ is the
brather of P. How many children does
P have ?
(A) 1
(B) 2
(C) 3

D) 4

2C/36

70,

71

T2

(18]

Solve the problem and indicate the
best of the answer choices given :
fu>t r>qs>tandt=>r which of

the following mustbe true 7

M u>s
i s=q
(i wu=r
(&) lonly
(B) llonly
(C) Illonky
(D) llandll

is the final step in the
decision making process.
(A)
(B}
(C)

Implementing the decision
Evaluating the decision
Recognizing the decision
(D} Evaluating the altematives

is not one of the eight
steps in the decision making
process.
(A) Identifying the problem
(B) Analyzing alternative solutions
(C} Implementing the decision

the decision

(D) Delegating

making

Contd



73

74

HG -

ivan spoke out in a meeting in favour
of a potential cost savings that would
result from a new employee benefils
program offered by the company. He
later received information that
showed that his initial decision about
the cost savings was Incorrect, but

he was too embarrassed to publicly

admit he was wrong, soheis sticking

by his onginal statement. lvan is

expenencing

(A) Bounded rationality

(B) Satisfying

{C).~ Escalation of commitment

(D) Foaor use of rational making

process ’

s one of -the

disadvantages of group decisions
that typically results in groups that are

very cohesive

(A} Conflict
(B) Groupthink
(C) - Domination

(D) Compromise

20136

75,

/6.

.

(18)

"Decision making under risk"
means

\{Jﬁi),a the decision has no data on
which to base his or her
decision

the decision maker is used to
with  high-risk

(B)
dealing

situations
the decision maker knows all of
the risks involved in the situation

(C)
(D} the decision maker can
estimate the risk invalved n

making a decision

The first step in the decision making
process 18 which of the following 7

(A)
(B)

Develop the alternatives

Analyze alternatives
{C}) ldentify decision criteria

qE};,- Identify the problem

The strengths and weaknesses of
each alternative become obvious in
which step of the decision making
process 7

(A} Identify the problem

(B) Identify the decision cntena

(C). Analyze the altematives

(D)  Implement the altemative

( Tum over)



78. Joe, the manager of Internet Made
Easy, is concemed He is trying, like
all technological based companies,
to stay ahead of the competition by
being the first ta offer the new
services available on the intermet.
His business offers training to local
businesses and so he must offer
the latest available information |
however, he must also advertise the
classes and the content, which
means going to the publisher with
that information six weeks befare a
class i1s to begin
What should his next series of
classes offer 7 Joe is operating
under which of the following
conditions 7
(A} Uncertainty

(B] Ceranty

(C)] Risk

([0} Optimal decision making

9. Look at this series below
2.1,0012),(1M4), —

What number should come next ?

(A (1/3)
(B) (1/8)
(C) (2/8)
(D) (1118)

HG - 2C/36

g0 ()

B1.

Tanya Is older than Enc.
(n Cliffis older than Tanya.
(i Encis older than CHiff.

if the first two statements are true, the

third statement is:
(A) Tue

~False
®)

(C) Uncertain
(D) Cannotbe determined

Statements !

i The prices of petrol and diesel

in the domestic market have

remainad unchanged for the
past few months.

il The crude oil prices in the
international market have gone
up substantially in the last few
moaths.

(A Staternent | is the cause and

statemnent Il is its effect

(B) Staterment || is the cause and

statement | is its effect

(). Boththe statements landli are

independent causes

(D) Both the statements | and || are

the effects of independent

Calses

Contd.



gz Statement : In a one day cricket
match, the total runs made by a team
were 200, Oul of these, 160 runs
were made by the spinners,

Conclusions :

{1

(i

(A)
(B)
(C}
(D)

80% of the team consists of
spinners

The opening batsmen were
spinners,

Only conclusion | follows
Only conclusion Il follows
Either | or |l follows

MNeither | nor |l follows

83  Look at this senes below :
B.6,9 23 87,
What number should come next 7

(A)
(B)
(C)
(D)

128
226
324
429

B4 Statements :

(]

(in

(Al

The Reserve Bank of India has
recently put restrictions on few
smiall banks in the country.

The small banks in the private
and co-operative sector in India
are not in a position to
withstand the competitions of
the bigger in the public sector.

Statement | is the cause and
statement |l s its effect

HG - 2C/36

B5.

87.

{21)

(B} Statement || is the cause and
statement | is its effect

(C) Both the staternents | and Il are
independent causes

(D) Both the statements | and |l are
the effects of independent
Causes

A candidate atltempted 12 questions
and secured full marks in all of them

If he obtained 60% in the test and all
questions camed equal marks, then
whatl number of questions in the
test ?

{A) 36
(B) 30
(C) 25

(D} 20
Which word does NOT belong with
the others ?

(A} Inch

(B) OQunce

(C)  Cenfimeter

(D) Yard

Here are some words {ranslated
from an arificial language

gorbifiur means fan beit

pixngorbl means ceiling fan

arthtusl means tile roof.

Which word could mean“ceiling tile” ?
(A) Gorbitusl

(B) Flurgerbl

(C)  Arthfiur

(D)  Pixnarth

( Tum over)



8e

90.

91

82

HG -

Odometer is to mileage as compass
1510
(A}
(B)
(C)
(D)

Speed
Hiking
MNeedle

Direction

45 + 4B + 47 + e # 113 %
114+ 115=7

(A) 5600
(B) 5656
(C) 5680
(D] 4000

L.C
(A)
(B)
(C)

{D} e

If the sum of a few numbers 15 450

and their mean is 50 and if another

2C/36

g3

84,

85.

(22)

Aumbar 100 18 included, the mean
would become -
(A} 55
(3 60
(C) 75
(D) 150
In a two digit number, the digitin the
unit place is 2 MOT& than three times
the digit in the tons place. If the sum
of digits is 6, the number is :
(Ay 15
(B) 24
(C) 42
(D} 51
Five years ago, Vinay's age was
one-third of the age of Vikas and now
Vinay's age is 17 years. Whatisthe
present age of Vikas 7
(A} Qyears
(8)
(C)
(D)

36 years

41 years
51 years

1 1 -
1_r:-:h F1+x|f-ﬂ]+1+x{l-h} + xlo 1]

.1
14_1-:b-:] +l:lE":

4

=7

(A) O
(8) 1
ey, s

(D) IE"‘b*':

Contd.



g6. 3 litres of waler is added to 15 litres (C) 36days
f ixture of a 20 i
of a mixtu % solution of (D) 25 days

alcohol in water. The strength of

alcohol is now g9 Kamal can do a work in 15 days.

Bimal is 50% more efficient than

(A) 123%
(B) 15%% Kamal. The number of days, Bimal
(C) 24% will take lo do the sama piece of
(D) 16% wark, is
g?_. A sofa set carrying a sale price tickat (A) 10
of Rs. 5,000 is sold at a discount of . B) 103
4% thereby gaining 20%. The (C) 12
trader s cost price of the sofa setis - O) 14
(A) Rs 3,600
. Two pi in 20 mi
(B) Rs 3,800 100 pipes can fill a tank in 0 minutes
nd 30 mi ively. If both
(C) Rs 4,000 a minutes respectively
ipes are opened simultaneously,
(D) Rs 4,200 R a y
then the tank will be filled in
g8 8 men can finish a piece of work In :
(A) 10 minutes

40 days. If 2 more men join with them,

then the work will be completed in - (B) 12 minutes

(A) 30 days (C) 15 minutes

(B) 32days (D) -25minutes

HG—2C/36 {23) ( Turn over )
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ANSWER WITH EXPLANATIONS

1. b)
2xy  2x15x10 12
X+y 15+10
2. d)
8% 18%
14%
4% 6%

2:3
5 Times = 1000
1 Times = 200
3 Times = 600
3. a)

8% 10%0

9.2%0

. 824 1.2%0
2:3

5 Times = 10000
3 Times = 6000
4. ¢)
25

——x100 =2.94%
50
35

1050

ﬁ><1OO =2.82%
90

%100 =3.33%

36

1080
5. d)

%100 =3.33%

300

In 2001, 1080

216 x100 = 25%

In 2006, 864

260 x100 = 26.67%

In 2004, 975

280 x100 = 28.14%

In 2003, 995

6. d)
Total no. of candidates selected from State A=25+20+ 22 + 36 + 32 + 28 = 163

InState B=35+30+28+ 32+ 40+ 38 =203

x100 =27.77%

B -61 A & B, Saheed Nagar & Plot-1441, Opp. IOCL Petrol Pump, CRP Square, Bhubaneswar
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@xloo =80.29%
Required percentage = 203
7. b)
i><100 =14.28%
In 2001, 245
ﬂ><100 =13.04%
In 2002 , 230
Exloo =16.84%
In 2004, 190
4—O><100 =17.771%
In 2005, 225
8. a)

Passed candidates from State Ain 2002 _ 240 _1
Passed candidates from State Din 2005 240 1

9. b)
In 2007 profit % of ‘B’ = 80%
80 4
==
je. 100 5
XX& = 5
Previous year 2006 = 100
140 7

9><l><100 =252%
Required percentage =

10. (b)
1— Profit
Profit percentage in 2003 of Company B 50% = 2 — investment
3 = Income
2 = 1540000
3
3 =1540000 x 2 =23.1 lakhs
11. a)
1— Profit
Profit percentage in company A is 50% = 2 —> investment 3 = |ncome
3=21.7
2
2=21.7x 3 =14.46 lakhs
12. ¢) Data inadequate
13.d)
150
Profit percentage of A in 2005 50% = 100
190
Profit percentage of B in 2006 90% = 100
Leading Insti for Banking, Railway, SSC B -61 A & B, Saheed Nagar & Plot-1441, Opp. IOCL Petrol Pump, CRP Square, Bhubaneswar
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14.

15.

16.

17.

18.
19.

20.

21.

22.
23.
24,
25.
26.
27.

150%x2 190x3

According to question 100x2 '100x3
Required ratio = 20 : 57
c)

468 1500=
Germany in 1999, 360 195

4 x1200 =

In Germany in 1998, 360 180

£x100=8%%

Required percentage = 180
d) Required ratio
64.8

250 <1200 18x12 24
75.6 <1500 21x15 35
360
(b) UK in 1998
%xlzoo =168
360
43.2  1500-180
UK in 1999,
1200 100-7.14
Difference percentage =
ﬁ x1200 =72
c) In ltaly 1998, 360
E><1500 =75

In Italy 1999, 360
Require difference =75-72=3

756 x100=21%
a) Required percentage = 360
b) Percentage Increased in 2004, Production of Cars = 180000
Percentage Increased in 2003, Production of Cars = 150000

30000 %100 = 20%
Required percentage = 150000
a) In the Company ‘S’ 2005 is 25%

d) the confusion is between b and d. If someone is wondering then it is a question in his
mind. When one wants to know that means he has expressed his desire which requires a
reply.

d) please refer to paragraph one, lines 9,10,11.

c) please refer to paragraph two, lines 10,11,12.

a) Self explanatory.

b) routinely obliges mean it is a standard practice.

c) please refer to paragraph one, first sentence.

b, please refer to paragraph two, first and second sentence.

Leading Insti

for Banking, Railway, SSC B -61 A & B, Saheed Nagar & Plot-1441, Opp. IOCL Petrol Pump, CRP Square, Bhubaneswar

Ph. : (0674) 6556677, 8093556677. Web : www.vanik.org, E-mail : vanikbbsr@gmail.com




b4 VANIK-1AS OMAS - SET ~C (PAPER-11)

lusive Coaching for UPSC/OPSC/PSC

28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.

44,
45,
46.

47.
48.
49.
50.

51.
52.
53.
54,

55.

b, please refer to paragraph two, lines 10,11,12.

a, please refer to paragraph two, last sentence.

a, please refer to paragraph three, first three sentences.

d, please refer to paragraph one.

b, please refer to paragraph three.

a, please refer to thelast paragraph, second sentence.

b, please refer to the last paragraph.

¢, Self explanatory.

c, please refer to the first paragraph.

a, a good teacher is able to put into words his ideas, thoughts seamlessly.

c, please refer to the third and fourth paragraph.

a, please refer to the fourth paragraph.

d, strict means severe, harsh, stringent. Lax means soft, tolerant, slack, careless.

b, read here means understand, comprehend, interpret, decipher, etc.

a, land a job means to successfully acquire something

b, collaborate means to work as a team. Teamwork suggests that people work in an

atmosphere of mutual support and trust, working together cohesively, with good inter-

group relations. Each other’s strengths are valued. It should also foster an increasing

maturity of relationship, where people are free to disagree constructively, and where

both support and challenge are a part of helping teams work.

d, here vocabulary means ideas, thoughts. This is parallel to norms, values.

¢, nuance means a slight difference in or shade of meaning, expression, or sound.

b, hand gestures, facial expressions, body movements are part of the body language. So
“language” option is not logical.

c, the letter is confidential and the responsibility lies with the director.

d, persuasive means influential, convincing, credible.

a, the question asked is about how the human could be affected physically.

a, perfect means having all the required or desirable elements, qualities, or characteristics;

asgood as it is possible to be. Free from any flaw or defect in condition or quality;

faultless.

a, self explanatory.

a, self explanatory.

a, self explanatory.

b, self explanatory.

a,
As dogwood all part is uncertain so we say confirm. So final answer is false.
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59.
60.

65.

66.

67.

In the family, there are total 3 ladies(wife and 2 daughters) and 3 gents(husband and two
sons). Therefore, the total family member is 6. All the ladies were out for dinner so 6-3=3
members are left. The two boys went for a game. So 3-2=1 left. The husband did not
return from office, so 1-1=0. Therefore no one was at home.

b;

b;

@ > mogon

C F H

B G
There are 14 triangles in the given figure namely,
ABC,ACG,ABG,ADC,AGE,JEG,CIG,EGH,EFG,AIC,AJE,ADI,EFH,JFG
d;

Falther
Man \)’
Photo(+)

b;
A B c

KL

G r
There are 17 straight line in the given figure namely,
AC,HE,GF,KM,HG,IK,BL,DM,EF,BI,BD,IG,KG,DF, MF,Al and CD.
C,

for Banking, Railway, SSC B -61 A & B, Saheed Nagar & Plot-1441, Opp. IOCL Petrol Pump, CRP Square, Bhubaneswar
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68.

69.
70.
71.

G Q E
F

There are 24 triangles in the given figure namely,
ABK,AKH,ABH,ILK,JK,ILJ,BLC,HJG,ICM,IGM,IGC,CMP,GMP,GCP,CDO,GFQ,ON
P,QNP,QOP,DNE,
FNE,DFE,CIP and GIP
d;

Y(+) —R(+) =>P(-) —Z(+)

Q(+) —X(-)
b;
d;
b) Decision making is the process of making choices by identifying a decision, gathering

information, and assessing alternative resolutions.

Using a step-by-step decision-making process can help you make more deliberate,
thoughtful decisions by organizing relevant information and defining alternatives.
This approach increases the chances that you will choose the most satisfying
alternative possible.

Step 1: Identify the decision

You realize that you need to make a decision. Try to clearly define the nature of the
decision you must make. This first step is very important.

Step 2: Gather relevant information

Collect some pertinent information before you make your decision: what information is
needed, the best sources of information, and how to get it. This step involves both
internal and external “work.” Some information is internal: you’ll seek it through
a process of self-assessment. Other information is external: you’ll find it online, in
books, from other people, and from other sources.

Step 3: Identify the alternatives

As you collect information, you will probably identify several possible paths of action, or
alternatives. You can also use your imagination and additional information to
construct new alternatives. In this step, you will list all possible and desirable
alternatives.

Step 4: Weigh the evidence

Draw on your information and emotions to imagine what it would be like if you carried
out each of the alternatives to the end. Evaluate whether the need identified in
Step 1 would be met or resolved through the use of each alternative. As you go
through this difficult internal process, you’ll begin to favor certain alternatives:
those that seem to have a higher potential for reaching your goal. Finally, place
the alternatives in a priority order, based upon your own value system.

Step 5: Choose among alternatives

Once you have weighed all the evidence, you are ready to select the alternative that seems
to be best one for you. You may even choose a combination of alternatives. Your

Leading Insti
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72.
73.

74.

75.

choice in Step 5 may very likely be the same or similar to the alternative you
placed at the top of your list at the end of Step 4.

Step 6: Take action

You’re now ready to take some positive action by beginning to implement the alternative
you chose in Step 5.

Step 7: Review your decision & its consequences

In this final step, consider the results of your decision and evaluate whether or not it has
resolved the need you identified in Step 1. If the decision has not met the
identified need, you may want to repeat certain steps of the process to make a new
decision. For example, you might want to gather more detailed or somewhat
different information or explore additional alternatives.

d) self explanatory.

c) Escalation of commitment is a human behavior pattern in which an individual or group

facing increasingly negative outcomes from a decision, action, or investment nevertheless

continues the behavior instead of altering course.

b) Groupthink

One of the greatest inhibitors of effective group decision making is groupthink.

Groupthink is a psychological phenomenon that occurs within a group of people in which
the desire for harmony or conformity results in an irrational or dysfunctional
decision-making outcome.

By isolating themselves from outside influences and actively suppressing dissenting
viewpoints in the interest of minimizing conflict, group members reach a
consensus decision without critical evaluation of alternative viewpoints.

d) Decision-making under Risk: When a manager lacks perfect information or whenever
an information asymmetry exists, risk arises. Under a state of risk, the decision maker has
incomplete information about available alternatives but has a good idea of the probability
of outcomes for each alternative. While making decisions under a state of risk, managers
must determine the probability associated with each alternative on the basis of the
available information and his experience

76. d)
77.c¢)
78.¢)
79. b)
2% 1 =1
2
1x i = E
2 2
1 1 1
—_X— =
2 2 4
1 1 1
— X —=—
4 2 8
80. d)
Because the first two statement are true, Eric is youngest of the three so, the third
statement must be false.
81.d)
The prices of petrol and diesel being stagnant in the domestic market and increase
in the same in the international market must be backed by independent causes.
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82.

83.

84.

85.

86.

87.

88.

89.

90.
91.

d)
According to the statement, 80% of the total runs were made by spinner. So, I
doesn’t follow. Nothing about the opening batsmen is mentioned in the statement.
So, II also doesn’t follow.

d)

8x1-2=6

6x2-3=9

9x3-4=23

23%4-5=87

87x5-6=429

b)

The inability of the small banks to complete with the bigger once shall not ensure security

and good service to the customers, which is essential concomitant that has to be looked

into by the Reserve Bank. | seems to be a remedial step for the same.

d) According to the Question 60% = 12

100% = 20

b)

An Ounce measures weight; the other choices measure length
d)

Fan-gorbl

Belt-flur

Ceiling-Pixn

d)

c)

115>2<116 _44x45 6670 —990 — 5680
d) LCM = %

C) 2.84 X 2.16 — 21 =2

92. a) Sum of numbers 450
Mean 50, Required numbers = 45—500= 9
New mean = M:SS
10
93.a)
94. ¢) According to question x +5 =17
x=12
3X+5=36+5=41
95. b)
96. b) Alcohol quantity = 20% of 15 =3
In the new mixture Alcohol percentage = %xloo =16§
97. c¢) Cost price = SOOOXEX@ =4000
100 120
40x8 _3
98. b) Number of days = 10
Leading Insti for Banking, Railway, SSC B -61 A & B, Saheed Nagar & Plot-1441, Opp. IOCL Petrol Pump, CRP Square, Bhubaneswar
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99. a) Bimal is 50% more efficient than Kamal i.e. %:%
2
Number of days ratio = 3
3=15
2=10
100. b)
20 3
60
3 D> < 2
60
—~ =12
5
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